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Name:

Acceleration
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avg At inst dt

Linear: Rotational:
Displacement AXx =x —Xx, AO = 6, -0
Velocity 1% :g&ﬁ :d_X 0} :&&(D_ :ﬁ
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or

Uniformly Accelerated Motion

Uniformly Angularly Accelerated Motion
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Ipartic]es = 21’ mlr’
Mass Mass 2
object with shape = J. r dm
. . Z 1
Kinetic Energy =5mv =gl

Newton’s Second Law

Y F=ma&yF="" p

t
Force / Torque Force T=rxF
dW _ o daw
Power translational dt F rotational t =70
= — L rticle = f X }3
Momentum p=mv _ _
object with shape = ICU
Thank you to Aarti Sangwan for pointing out that | didn’t include a rotational form of work in the video.
Name: Linear: Rotational:
Work (constant force) W =F.A¥ = FArcosf W=7-A0
Xf 6;
Work (non-constant force) W = J F dx W = , tdO
Net Work-Kinetic Energy _ _ 2 1 2 _ 2 2
Theorem net AKE = Emvf - Emvi net AKE _wa - _Ia)i

A little bonus: Look what happens when we combine a couple of the above formulas:
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